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Chapter 11—Basic Elements of Control
TRUE/FALSE

1.
Control provides an organization with a mechanism for adjusting its course if performance falls outside of acceptable boundaries.
ANS:
T
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
Comp

2.
A properly designed control system can help management anticipate, monitor, and respond to changing circumstances.
ANS:
T
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
Comp

3.
One purpose of control is to simplify organizations.
ANS:
F
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
Comp

4.
The responsibility for managing control rests on the CEO.
ANS:
F
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
Comp

5.
Financial resource controls are interrelated with the control of all other organizational resources.
ANS:
T
PTS:
1
OBJ:
11.1
NAT:
AACSB: A

TYP:
Def

6.
Strategic controls are concerned with how well the organization aligns itself with the environment.
ANS:
T
PTS:
1
OBJ:
11.1
NAT:
AACSB: A

TYP:
Def

7.
The last step in the control process is to change the standard.
ANS:
F
PTS:
1
OBJ:
11.1
NAT:
AACSB: A

TYP:
Def

8.
As much as possible, standards established for control purposes should reflect the goals of the organization.
ANS:
T
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
Comp

9.
After comparing performance against control standards managers should never change the standard.
ANS:
F
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
Comp

10.
Reporters who verify stories with additional sources are using screening control.
ANS:
F
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
App

11.
An after-action report is a screening control.
ANS:
F
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
App

12.
The most common controls are screening controls.
ANS:
T
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
Comp

13.
An effective way to promote employee participation in the control process is to use screening controls.
ANS:
T
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
Comp

14.
Operations controls monitor input, transformation, and output.
ANS:
T
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
Comp

15.
Businesses must manage their finances so that revenues are sufficient to cover costs. Not-for-profit organizations such as universities do not have the same concerns.
ANS:
F
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Comp

16.
An operating budget is a budget that determines the number of units to be produced during the coming time period.
ANS:
F
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

17.
Sources of cash include sales revenue, short- and long-term loans, the sale of assets, and the issuance of new stock.
ANS:
T
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Comp

18.
Many contemporary organizations do not allow managers to participate in the budget process.
ANS:
F
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Comp

19.
External audits examine the efficiency and appropriateness of financial and accounting procedures.
ANS:
F
PTS:
1
OBJ:
11.3
NAT:
AACSB: R

TYP:
Comp

20.
Internal audits examine the efficiency and appropriateness of financial and accounting procedures.
ANS:
T
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

21.
Internal audits are not as effective as external audits.
ANS:
F
PTS:
1
OBJ:
11.3
NAT:
AACSB: R

TYP:
Comp

22.
Bureaucratic control focuses on enhanced performance that exceeds minimum acceptable standards.
ANS:
F
PTS:
1
OBJ:
11.4
NAT:
AACSB: R

TYP:
Comp

23.
Decentralized control relies heavily on self-control by the organization's employees.
ANS:
T
PTS:
1
OBJ:
11.4
NAT:
AACSB: A

TYP:
Def

24.
Bureaucratic control is outdated and not effective any more.
ANS:
F
PTS:
1
OBJ:
11.4
NAT:
AACSB: R

TYP:
Comp

25.
Strategic control in global organizations is the same as domestic organizations.
ANS:
F
PTS:
1
OBJ:
11.5
NAT:
AACSB: R

TYP:
Comp

26.
Information systems are an essential element of strategic control.
ANS:
T
PTS:
1
OBJ:
11.5
NAT:
AACSB: R

TYP:
Comp

27.
The planning and controlling functions are interrelated.
ANS:
T
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
Comp

28.
Toyota is designing a new car. At the same time it is planning the recycling abilities of the parts. Toyota is effectively integrating planning and control processes.
ANS:
T
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
App

29.
Managers make a surprisingly large number of decisions based on inaccurate information.
ANS:
T
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
Comp

30.
If objective data are available, they will provide more useful information than will mere subjective impressions.
ANS:
T
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
Comp

31.
As the number of things being controlled by the organization increases, the likelihood that employees will resist those controls tends to decrease.
ANS:
F
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
Comp
MULTIPLE CHOICE

1.
The basic purpose of control is

	a.
	to cope with organizational complexity.

	b.
	to adapt to environmental changes.

	c.
	to minimize costs.

	d.
	to limit the accumulation of error.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
11.1
NAT:
AACSB: A

TYP:
Def

2.
Organizational control is

	a.
	the regulation of management activities to increase leadership.

	b.
	the regulation of organizational activities to facilitate goal attainment.

	c.
	the system that monitors and manages via a self-regulating mechanism.

	d.
	a mechanism for maintaining the status quo.

	e.
	a device for determining where the organization should be at some future time.


ANS:
B
PTS:
1
OBJ:
11.1
NAT:
AACSB: A

TYP:
Def

3.
The purpose of control is to

	a.
	determine where the organization should be at some point in the future.

	b.
	assess organizational performance relative to some desired goal.

	c.
	determine how to structure the organization so as to carry out organizational plans.

	d.
	get the organization's employees to work toward organizational goals.

	e.
	verify that the organization's strategy is appropriate for its environment.


ANS:
B
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
Comp

4.
A properly designed control system is important to an organization because it can be used to

	a.
	maximize costs.

	b.
	anticipate, monitor, and respond to changing circumstances.

	c.
	modify inappropriate organizational focus.

	d.
	modify organizational standards.

	e.
	reduce resistance to change.


ANS:
B
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
Comp

5.
Army helicopter pilots follow a preflight checklist because small things here and there can add up to disaster in the air later. This illustrates

	a.
	organizational complexity.

	b.
	how changing conditions are influenced by innovation.

	c.
	why control is necessary to reduce the accumulation of errors.

	d.
	how control helps organizations respond to changing standards.

	e.
	how organizations cope with multiple control standards.


ANS:
C
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
App

6.
The Sarbanes-Oxley Act, passed after the fall of Enron and Arthur Andersen, requires accounting firms to separate the auditing function from the consulting function. This example illustrates

	a.
	organizational complexity.

	b.
	how changing conditions are influenced by innovation.

	c.
	why control is necessary to reduce the accumulation of errors.

	d.
	how control helps organizations respond to changing standards.

	e.
	All of these choices


ANS:
D
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
App

7.
Cody Kretsinger was charged with a computer breach at Sony Pictures Entertainment. User data was stolen. Hackers now threaten companies of all sizes and require constant security updates. This example illustrates how a control system can be used to

	a.
	minimize costs.

	b.
	limit the accumulation of errors.

	c.
	adapt to the environmental change.

	d.
	cope with wide spans of management.

	e.
	All of these choices


ANS:
C
PTS:
1
OBJ:
11.1
NAT:
AACSB: T

TYP:
App

8.
Income statements, balance sheets, and audits are examples of the control of

	a.
	physical resources.

	b.
	cybernetics.

	c.
	human resources.

	d.
	organizational complexity.

	e.
	financial resources.


ANS:
E
PTS:
1
OBJ:
11.3
NAT:
AACSB: R

TYP:
App

9.
According to the text, what are the two broad schemes by which controls can be classified?

	a.
	Level and cost

	b.
	Cost and focus

	c.
	Area and level

	d.
	Level and complexity

	e.
	Complexity and focus


ANS:
C
PTS:
1
OBJ:
11.1
NAT:
AACSB: A

TYP:
Def

10.
Cody Kretsinger was charged with a computer breach at Sony Pictures Entertainment. User data was stolen. Hackers now threaten companies of all sizes and require constant security updates. This is an example of the need for ____ control.

	a.
	financial

	b.
	information

	c.
	physical

	d.
	human

	e.
	strategic


ANS:
B
PTS:
1
OBJ:
11.1
NAT:
AACSB: T

TYP:
App

11.
Google partnered with Nielsen Co. to poll users about ads on Google+. Nielsen then packaged the information for advertisers. This was a response to advertiser complaints about the effectiveness of ads on the social network. This indicates that Google is placing an emphasis on ____ controls.

	a.
	structural

	b.
	hierarchical

	c.
	strategic

	d.
	managerial

	e.
	operations


ANS:
E
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
App

12.
The credit crisis and the Federal Reserve's response to it faced criticism from Congress. The Treasury Department requested a review of the central bank's structure and governance. There is now broad support for auditing the Fed using the Government Accountability Office. The change in the economic and political environment of the Fed means the Fed needs to adapt its ____ control.

	a.
	structural

	b.
	hierarchical

	c.
	strategic

	d.
	managerial

	e.
	operations


ANS:
C
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
App

13.
Secretary of Defense, Gates, shifted the pentagon's budget from expensive, high tech weapon systems to timely, responsive systems. Small defense contractors were more responsive to the change and won more contracts. In this case ____ control helped the small companies.

	a.
	structural

	b.
	hierarchical

	c.
	strategic

	d.
	managerial

	e.
	operations


ANS:
A
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
App

14.
Businesses that use H-form or M-form organizational design may have several ____ who are responsible for helping line managers with their control functions, for coordinating the organization's overall control system, and for gathering and assimilating relevant information.

	a.
	ombudsmen

	b.
	facilitators

	c.
	change agents

	d.
	controllers

	e.
	control champions


ANS:
D
PTS:
1
OBJ:
11.1
NAT:
AACSB: A

TYP:
Def

15.
Implementing the control process includes which of the following steps?

	a.
	Establish standards

	b.
	Determine the need for corrective action

	c.
	Compare performance against standards

	d.
	Measure performance

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
11.1
NAT:
AACSB: A

TYP:
Def

16.
The last step in the control process is to

	a.
	establish standards.

	b.
	determine the need for corrective action.

	c.
	compare performance against standards.

	d.
	measure performance.

	e.
	maintain the status quo.


ANS:
B
PTS:
1
OBJ:
11.1
NAT:
AACSB: A

TYP:
Def

17.
The ____ at McDonald's fast-food restaurants is to fill each order within 90 seconds and to have no customer wait longer than 3.5 minutes.

	a.
	structural goal

	b.
	physical resource control

	c.
	financial control

	d.
	corrective strategy

	e.
	control standard


ANS:
E
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
App

18.
Standards used in organizational control are most like

	a.
	policies.

	b.
	strategies.

	c.
	goals.

	d.
	rules.

	e.
	standing plans.


ANS:
C
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
Comp

19.
To the extent possible, standards used for control purposes should be derived from

	a.
	historical data.

	b.
	time-series data.

	c.
	external data.

	d.
	organizational goals.

	e.
	production indices.


ANS:
D
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
Comp

20.
McDonald's fast-food restaurants aim to fill each order within 90 seconds and to have no customer wait longer than 3.5 minutes. This is derived from the company's

	a.
	historical data.

	b.
	time-series data.

	c.
	external data.

	d.
	organizational goals.

	e.
	production indices.


ANS:
D
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
Comp

21.
After evaluation, an appropriate decision may be to

	a.
	raise standards.

	b.
	do nothing.

	c.
	correct the deviation.

	d.
	lower standards.

	e.
	Do any of these choices


ANS:
E
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
Comp

22.
Anu is comparing the performance of her small landscaping business against the standards she established. When she has finished her comparisons, any of the following actions may be appropriate EXCEPT

	a.
	correct deviations as required.

	b.
	maintain the status quo.

	c.
	increase the control standards.

	d.
	eliminate the control if things went as planned.

	e.
	decrease the control standards.


ANS:
D
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
App

23.
Apple iPhones are notorious for cracked screens. When a customer brings one in to an iStore, the employee checks the customer records and may replace the screen for free. Which step in the control process does this represent?

	a.
	Taking corrective action

	b.
	Measuring performance

	c.
	Comparing performance to standards

	d.
	Establishing performance standards

	e.
	Setting goals


ANS:
A
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

TYP:
App

24.
eBay partnered with Nielsen Co. to poll users about ads on eBay. Nielsen then packaged the information for advertisers. This was a response to advertiser complaints about the effectiveness of ads on the Internet. Verifying ad effectiveness of other companies before buying ad space on eBay is a ____ control for the businesses.

	a.
	screening

	b.
	preliminary

	c.
	concurrent

	d.
	postaction

	e.
	feedback


ANS:
B
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
App

25.
Thousands of people audition each year to be contestants on American Idol. The audition is an example of a ____ control.

	a.
	screening

	b.
	preliminary

	c.
	concurrent

	d.
	postaction

	e.
	feedback


ANS:
B
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
App

26.
Everyone working or volunteering for Girl Scouts has a background check before they can work with girls or handle money. What kind of operations control is this?

	a.
	Preliminary

	b.
	Feedback

	c.
	Concurrent

	d.
	Screening

	e.
	Yes-no


ANS:
A
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
App

27.
To what part of a system are preliminary controls applied?

	a.
	Resources

	b.
	Transformation processes

	c.
	Outputs

	d.
	Feedback elements

	e.
	Subsystems


ANS:
A
PTS:
1
OBJ:
11.2
NAT:
AACSB: A

TYP:
Def

28.
During episodes of the Biggest Loser, contestants compete to lose weight and stay at the ranch, because someone leaves each week. This is an example of a ____ control.

	a.
	screening

	b.
	preliminary

	c.
	postaction

	d.
	cybernetic

	e.
	yes-no


ANS:
A
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
App

29.
A college admissions board required students to have certain grade point averages and SAT scores to be accepted at the school. What form of operations control do these requirements represent?

	a.
	Screening

	b.
	Preliminary

	c.
	Postaction

	d.
	Cybernetic

	e.
	Yes-no


ANS:
B
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
App

30.
Screening controls

	a.
	take place during the transformation process.

	b.
	involve interviewing potential employees.

	c.
	are the same as preliminary control.

	d.
	determine organizational flexibility.

	e.
	determine accuracy of organizational standards.


ANS:
A
PTS:
1
OBJ:
11.2
NAT:
AACSB: A

TYP:
Def

31.
Politicians transform information from many sources into decisions about policies for the area they govern. When politicians "float an idea" by having a staff member leak it to the press to gauge reaction, the politician's staff is using ____ control.

	a.
	screening

	b.
	preliminary

	c.
	postaction

	d.
	cybernetic

	e.
	yes-no


ANS:
B
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
App

32.
Which of the following is NOT a major form of operations control discussed in the text?

	a.
	Preliminary

	b.
	Screening

	c.
	Postaction

	d.
	Functional

	e.
	None of these choices


ANS:
D
PTS:
1
OBJ:
11.2
NAT:
AACSB: A

TYP:
Def

33.
As the product being produced becomes more complex, which of the following types of operations controls would logically become more important?

	a.
	Preliminary

	b.
	Screening

	c.
	Postaction

	d.
	Preliminary

	e.
	Feedback


ANS:
B
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
Comp

34.
Politicians transform information from many sources into decisions about policies for the area they govern. When politicians follow poll results during legislative debate, the politicians are using ____ control.

	a.
	preliminary

	b.
	screening

	c.
	postaction

	d.
	cybernetic

	e.
	feedback


ANS:
B
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
App

35.
Politicians transform information from many sources into decisions about policies for the area they govern. When politicians follow poll results after the passage of legislation, the politicians are using ____ control.

	a.
	preliminary

	b.
	screening

	c.
	postaction

	d.
	cybernetic

	e.
	feedback


ANS:
C
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
App

36.
Amazon asks customers to rate their experience with the product and service. This is an example of ____ control.

	a.
	preliminary

	b.
	screening

	c.
	postaction

	d.
	cybernetic

	e.
	feedback


ANS:
C
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
App

37.
The percentage of graduates who find a job within six months of graduation is a ____ control for colleges and universities.

	a.
	preliminary

	b.
	screening

	c.
	postaction

	d.
	cybernetic

	e.
	feedback


ANS:
C
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
App

38.
Postaction control is most appropriate when the

	a.
	time between goal setting and attainment is short.

	b.
	product being produced is nonperishable.

	c.
	product being produced is simple and routine.

	d.
	production process is very complicated.

	e.
	volume of product output is extremely large.


ANS:
C
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
Comp

39.
Once a year Boy Scout troops submit financial reports describing income and expenditures. This is an example of ____ control.

	a.
	preliminary

	b.
	screening

	c.
	postaction

	d.
	cybernetic

	e.
	feedback


ANS:
C
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

TYP:
App

40.
Budgets

	a.
	help managers coordinate resources.

	b.
	help define standards for control.

	c.
	provide guidelines about resources.

	d.
	enable the evaluation of the performance of managers.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

41.
Which of the following is a type of financial budget that deals with forecasting the organization's assets and liabilities in the event all other budgets are met?

	a.
	Cash-flow

	b.
	Liquidity

	c.
	Capital expenditure

	d.
	Balance sheet

	e.
	Pro forma


ANS:
D
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

42.
Which of the following is NOT a type of financial budget?

	a.
	Cash-flow

	b.
	Capital expenditure

	c.
	Balance sheet

	d.
	Cash

	e.
	Profit


ANS:
E
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

43.
Which of the following is NOT a type of operating budget?

	a.
	Production

	b.
	Sales

	c.
	Expense

	d.
	Profit

	e.
	Revenue


ANS:
A
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

44.
At the end of each fiscal year, managers report in their performance report if they are under budget. This is an example of a(n) ____control.

	a.
	labor

	b.
	operations

	c.
	information

	d.
	finance

	e.
	revenue


ANS:
D
PTS:
1
OBJ:
11.3
NAT:
AACSB: R

TYP:
App

45.
The University of Michigan develops a budget that shows its projected income from sources such as the state of Michigan, tuition and fees, alumni contributions, and research grants. This is an example of a(n) ____ budget.

	a.
	revenue

	b.
	output

	c.
	capital expenditures

	d.
	balance sheet

	e.
	cash-flow


ANS:
A
PTS:
1
OBJ:
11.3
NAT:
AACSB: R

TYP:
App

46.
The ____ budgets are organizational budgets that outline quantities of product/service to be produced and what resources will be used.

	a.
	operating

	b.
	capital expenditure

	c.
	revenue

	d.
	cash-flow

	e.
	nonmonetary


ANS:
E
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

47.
A plant manager is told that she has 8,000 labor hours to allocate in a week. This is an example of a(n) ____ budget.

	a.
	operations

	b.
	financial

	c.
	nonmonetary

	d.
	output

	e.
	expense


ANS:
C
PTS:
1
OBJ:
11.3
NAT:
AACSB: R

TYP:
App

48.
Deirdre is a freelance editor. She knows how many chapters she needs to edit and approximately how long each chapter takes. She is calculating what she needs to do to meet her next deadline. She is making a ____ budget.

	a.
	labor

	b.
	production

	c.
	space

	d.
	balance sheet

	e.
	capital expenditure


ANS:
A
PTS:
1
OBJ:
11.3
NAT:
AACSB: R

TYP:
App

49.
Which of the following statements does NOT describe a weakness associated with budgeting?

	a.
	Some managers apply budgets too rigidly.

	b.
	Developing budgets can be very time consuming.

	c.
	Budgets link planning and controlling.

	d.
	Budgets may limit innovation and change.

	e.
	Budgets may make it impossible to procure funds to take advantage of an unexpected opportunity.


ANS:
C
PTS:
1
OBJ:
11.3
NAT:
AACSB: R

TYP:
Comp

50.
A(n) ____ is a financial statement that lists all of the organization's assets and liabilities at a given point in time.

	a.
	balance sheet

	b.
	revenue statement

	c.
	income statement

	d.
	financial plan

	e.
	capital expenditures budget


ANS:
A
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

51.
A(n) ____ is a financial statement that presents a picture of the organization's financial performance over a period of time as opposed to a single point in time.

	a.
	balance sheet

	b.
	operating budget

	c.
	income statement

	d.
	sales budget

	e.
	capital expenditures budget


ANS:
C
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

52.
Which of the following would NOT be included in the typical balance sheet?

	a.
	Current assets

	b.
	Fixed assets

	c.
	Stockholder's equity

	d.
	Revenues

	e.
	Long-term liabilities


ANS:
D
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

53.
You are looking at a document that has entries for such items as revenues, expenses, and profit. You are looking at a(n)

	a.
	balance sheet.

	b.
	revenue budget.

	c.
	capital expenditure budget.

	d.
	income statement.

	e.
	master budget.


ANS:
D
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

54.
A(n) ____ ratio is a measure of the firm's ability to meet its long-term financial obligations.

	a.
	liquidity

	b.
	income

	c.
	activity

	d.
	operating

	e.
	debt


ANS:
E
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

55.
You are a banker reviewing a loan application from a local business. Which of the following ratios would you look at to get a quick measure of the business's ability to meet its long-term financial obligations?

	a.
	Liquidity ratio

	b.
	Return on assets

	c.
	Debt ratio

	d.
	Current ratio

	e.
	Activity ratio


ANS:
C
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

56.
If Suzlon Energy Ltd. wants to focus on the strength of its wind-turbine division, it will use ____ ratios.

	a.
	coverage

	b.
	debt

	c.
	operating

	d.
	return

	e.
	activity


ANS:
C
PTS:
1
OBJ:
11.3
NAT:
AACSB: R

TYP:
App

57.
The ____ shows an organization's bottom line (profit or loss) and summarizes activities over a period of time.

	a.
	income statement

	b.
	balance sheet

	c.
	internal audit

	d.
	operations budget

	e.
	pro forma statement


ANS:
A
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

58.
Where would you expect to find the following information: "XYZ Corporation has $746 million in assets and $593 million in liabilities on October 1, 2012?"

	a.
	Income statement

	b.
	Balance sheet

	c.
	Internal audit

	d.
	Operations budget

	e.
	Pro forma statement


ANS:
B
PTS:
1
OBJ:
11.3
NAT:
AACSB: R

TYP:
App

59.
____ ratios assess the ease with which the assets of the organization can be converted into cash.

	a.
	Liquidity

	b.
	Profitability

	c.
	Debt

	d.
	Operating

	e.
	Activity


ANS:
A
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

60.
____ ratios indicate the effectiveness of specific functional areas rather than that of the total organization.

	a.
	Coverage

	b.
	Debt

	c.
	Operating

	d.
	Return

	e.
	Activity


ANS:
C
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

61.
Which of the following is an example of a financial control that allows managers to compare different elements of a balance sheet and income statement to one another?

	a.
	Balance sheet

	b.
	Income statement

	c.
	External audit

	d.
	Return on assets computation

	e.
	Financial ratios


ANS:
E
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

62.
John Hamann began his company making herb vinegars from a recipe his grandmother had given him. As demand grew, he had to buy a large commercial kitchen. Which of the following ratios would a banker have been most interested in before allowing Hamann to borrow $500,000?

	a.
	Liquidity ratios

	b.
	Profitability ratios

	c.
	Debt ratios

	d.
	Operating ratios

	e.
	Activity ratios


ANS:
C
PTS:
1
OBJ:
11.3
NAT:
AACSB: R

TYP:
App

63.
GE is highly leveraged. Financial analysts look at its ____ ratio to determine if it can make interest payments.

	a.
	liquidity

	b.
	leverage

	c.
	activity

	d.
	operating

	e.
	coverage


ANS:
E
PTS:
1
OBJ:
11.3
NAT:
AACSB: R

TYP:
App

64.
Which of the following statements about financial audits is TRUE?

	a.
	They are independent appraisals.

	b.
	They may be internal or external to the organization.

	c.
	They may be used to monitor accounting, financial, and operating systems within an organization.

	d.
	They may be conducted on a continual or an intermittent basis.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
11.3
NAT:
AACSB: R

TYP:
Comp

65.
Internal audits tend to be

	a.
	more expensive than external audits.

	b.
	more specific than external audits.

	c.
	more political than external audits.

	d.
	more focused on efficiency.

	e.
	All of these choices


ANS:
B
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

TYP:
Def

66.
The purpose of bureaucratic control is to

	a.
	enhance employee participation in the control function.

	b.
	produce performance above minimum acceptable standards.

	c.
	get employee compliance.

	d.
	increase group performance.

	e.
	increase employee self-control.


ANS:
C
PTS:
1
OBJ:
11.4
NAT:
AACSB: R

TYP:
Comp

67.
____ control is a form of organizational control characterized by formal and mechanistic structural arrangements.

	a.
	Decentralized

	b.
	Divisional

	c.
	Chain of command

	d.
	Bureaucratic

	e.
	Administrative


ANS:
D
PTS:
1
OBJ:
11.4
NAT:
AACSB: A

TYP:
Def

68.
Which of the following is NOT characteristic of the bureaucratic approach to organizational control?

	a.
	Rewards focused on individual performance

	b.
	Tall organizational structure

	c.
	Limited employee participation

	d.
	Reliance on rules and a rigid hierarchy

	e.
	Reliance on group norms


ANS:
E
PTS:
1
OBJ:
11.4
NAT:
AACSB: R

TYP:
Comp

69.
If a manager has a directive leadership style and works in an organization in which performance expectations are minimal, which control structure is most appropriate?

	a.
	Decentralized

	b.
	Organic

	c.
	System 4

	d.
	Bureaucratic

	e.
	Laissez-faire


ANS:
D
PTS:
1
OBJ:
11.4
NAT:
AACSB: A

TYP:
Def

70.
World Vision has a flat structure that allows workers in countries scattered around the globe to respond to unique local cultures, situations, and needs. What control structure does World Vision use?

	a.
	Decentralized

	b.
	Organic

	c.
	System 4

	d.
	Bureaucratic

	e.
	Laissez-faire


ANS:
A
PTS:
1
OBJ:
11.4
NAT:
AACSB: A

TYP:
App

71.
Which of the following is NOT characteristic of decentralized control?

	a.
	Rewards focused on individual performance

	b.
	Employee commitment

	c.
	Widespread employee participation

	d.
	Informal and organic structural arrangements

	e.
	Employee self-control


ANS:
A
PTS:
1
OBJ:
11.4
NAT:
AACSB: R

TYP:
Comp

72.
____ control is an approach to organizational control characterized by informal and organic structural arrangements.

	a.
	Decentralized

	b.
	Organic

	c.
	Mechanistic

	d.
	Bureaucratic

	e.
	Laissez-faire


ANS:
A
PTS:
1
OBJ:
11.4
NAT:
AACSB: A

TYP:
Def

73.
The level of control designed to ensure that the organization meets its goals is ____ control.

	a.
	operations

	b.
	organizational

	c.
	functional

	d.
	strategic

	e.
	administrative


ANS:
D
PTS:
1
OBJ:
11.5
NAT:
AACSB: A

TYP:
Def

74.
Which of the following is NOT one of the areas on which strategic control should focus?

	a.
	Structure

	b.
	Leadership

	c.
	Audits

	d.
	Human resources

	e.
	Technology


ANS:
C
PTS:
1
OBJ:
11.5
NAT:
AACSB: A

TYP:
Def

75.
FedEx focuses on top linequality and customer satisfaction. UPS focuses on bottom lineefficiency and cost. They have differences in ____ control.

	a.
	operations

	b.
	organizational

	c.
	strategic

	d.
	functional

	e.
	environmental


ANS:
C
PTS:
1
OBJ:
11.5
NAT:
AACSB: R

TYP:
App

76.
American Greetings Corporation reported that "its sales have been hurt by people increasingly using the Internet to communicate" and by "lower-priced competition including Hallmark's Warm Wishes line of 99-cent cards." As a result, it decided to lay off 13 percent of its full-time workforce. This need for cost-cutting measures would have been detected by its ____ control system.

	a.
	operations

	b.
	organizational

	c.
	strategic

	d.
	functional

	e.
	environmental


ANS:
C
PTS:
1
OBJ:
11.5
NAT:
AACSB: R

TYP:
App

77.
MTV has a(n) ____ perspective toward international strategic control. It does not require its various divisions (MTV Europe, MTV Australia, MTV India, MTV Latin America, and so on) to report in frequently. It believes in letting each manager have the authority to respond quickly to environmental changes. These changes do not have to be approved by MTV before they are implemented.

	a.
	administrative

	b.
	mechanistic

	c.
	centralized

	d.
	bureaucratic

	e.
	decentralized


ANS:
E
PTS:
1
OBJ:
11.5
NAT:
AACSB: R

TYP:
App

78.
At the beginning of the planning-controlling process, planning

	a.
	plays a major role in shaping the control process.

	b.
	is temporarily unrelated to the control process.

	c.
	is shaped by the control system requirements.

	d.
	decreases organizational flexibility.

	e.
	increases the accuracy of organizational processes.


ANS:
A
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
Comp

79.
The best way to integrate planning and control is to

	a.
	develop controls as plans develop.

	b.
	set goals and standards for control during planning.

	c.
	link control with planning.

	d.
	make integration explicit and precise.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
Comp

80.
Managers can improve the effectiveness of the control system by

	a.
	changing the performance standards.

	b.
	controlling as many things in the organization as possible.

	c.
	computerizing the system.

	d.
	integrating control with planning.

	e.
	correcting all deviations from standards.


ANS:
D
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
Comp

81.
What is the MOST important factor in effectively integrating the planning and control functions?

	a.
	Set clear objectives

	b.
	Develop a strategy that eliminates the need for controls

	c.
	Compare past performance to standards

	d.
	Ensure that the system is flexible

	e.
	Provide for controls as plans are developed


ANS:
E
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
Comp

82.
Oshkosh Corp. hired hundreds of workers to meet an order deadline. The employee training process had to adapt. Which of the characteristics of an effective control system did the training system need?

	a.
	Timeliness

	b.
	Accuracy

	c.
	Focus

	d.
	Flexibility

	e.
	Objectivity


ANS:
D
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
App

83.
When Boeing bought the aviation parts and services company Aviall, it stated that it expected to have no initial change in earnings and the following year a modest gain. It was

	a.
	attempting to control its external environment.

	b.
	attempting to be timely with its controls.

	c.
	integrating planning with control.

	d.
	relying on bureaucratic controls.

	e.
	None of these choices


ANS:
C
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
App

84.
Which of the following is NOT a characteristic of effective controls?

	a.
	Flexibility

	b.
	Accuracy

	c.
	Accountability

	d.
	Timeliness

	e.
	Objectivity


ANS:
C
PTS:
1
OBJ:
11.6
NAT:
AACSB: A

TYP:
Def

85.
One barrier to effective communication is the filtering of upward communication. Which characteristic of effective control systems would this affect?

	a.
	Flexibility

	b.
	Accuracy

	c.
	Accountability

	d.
	Timeliness

	e.
	Objectivity


ANS:
B
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
Comp

86.
Which of the following is NOT one of the characteristics of an effective control system?

	a.
	Developed and implemented by top management

	b.
	Flexibility

	c.
	Integrated with planning

	d.
	Developed with accurate input

	e.
	Timeliness


ANS:
A
PTS:
1
OBJ:
11.6
NAT:
AACSB: A

TYP:
Def

87.
Which of the following statements is TRUE concerning what happens to control as the level of uncertainty increases?

	a.
	Measurements need to be taken more frequently.

	b.
	Controls can become less focused.

	c.
	Employees are less likely to resist controls.

	d.
	The control system becomes more objective.

	e.
	The importance of adequate controls decreases.


ANS:
A
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
Comp

88.
The term objective as it relates to controls means that the controls

	a.
	can be used to identify hidden costs.

	b.
	are quantifiable.

	c.
	are realistic.

	d.
	are focused on the right measures.

	e.
	provide information when needed.


ANS:
B
PTS:
1
OBJ:
11.6
NAT:
AACSB: A

TYP:
Def

89.
What characteristic of effective control systems is lacking when a control system reports production output as being better than average, satisfactory, marginal, or unsatisfactory?

	a.
	Objectivity

	b.
	Flexibility

	c.
	Accuracy

	d.
	Timeliness

	e.
	Integration with planning


ANS:
A
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
App

90.
On the end-of-year report for Yoplait yogurt, the division manager noted that "the gross margin for the product was lower than expected." This statement indicates that the control system used by Yoplait might lack

	a.
	objectivity.

	b.
	flexibility.

	c.
	accuracy.

	d.
	timeliness.

	e.
	integration with planning.


ANS:
A
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
App

91.
Initially California Closets tried to limit employee access to Facebook. However, when Facebook became part of the company communication strategy, CC relented to employee Facebook access. Employees were happy because they thought the restriction was unreasonable. The employees perceived ____.

	a.
	lack of accountability

	b.
	inappropriate focus

	c.
	inefficiency

	d.
	overcontrol

	e.
	lack of standards


ANS:
D
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
App

92.
Some managers at J.P. Morgan Chase viewed the CEO monitoring all of their expenses as too much involvement. They saw it as

	a.
	extreme objectivity.

	b.
	inappropriate focus.

	c.
	overcontrol.

	d.
	excessive accountability.

	e.
	inflexibility.


ANS:
C
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
App

93.
Overcontrol is most problematic in areas dealing with ____ resources.

	a.
	financial

	b.
	physical

	c.
	human

	d.
	information

	e.
	international


ANS:
C
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
Comp

94.
What is the problem with a university reward system that encourages faculty members to publish numerous research articles but fails to consider the quality of the articles?

	a.
	Overcontrol

	b.
	Rewarding inefficiency

	c.
	Inappropriate focus

	d.
	No accountability

	e.
	Too restrictive


ANS:
C
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
App

95.
General Plastics Corporation instituted a new absenteeism control policy that took effect the first day of June. It expects the new policy to result in a 25 percent reduction in absenteeism the first year. Like the previous policy, the new program counts vacation days as absenteeism. On the first of September, the personnel director evaluated the results of the program for the first three months and was disappointed to find that absenteeism had dropped only half of 1 percent. What is the likely problem?

	a.
	Employees are resisting control.

	b.
	The indicator of success was inappropriate.

	c.
	Control is inappropriately focused.

	d.
	The standard is not specific enough.

	e.
	A reduction of 25 percent is too much to hope for.


ANS:
B
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
App

96.
Brokerage firms on Wall Street are now closely monitoring research analyst's e-mails. If the analysts view this as inappropriate, the control system will be characterized by

	a.
	overcontrol.

	b.
	no verification procedures.

	c.
	resistance to control.

	d.
	reducing uncertainty.

	e.
	management by objectives.


ANS:
C
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
App

97.
Booz Allen Hamilton requires employees to use a key that keeps track of how many copies they make on copy machines. Some employees resent the lack of trust. This is an example of

	a.
	overcontrol.

	b.
	verification procedures.

	c.
	resistance to control.

	d.
	reducing uncertainty.

	e.
	management by objectives.


ANS:
A
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
App

98.
Participation in a control system

	a.
	causes employees to resist control.

	b.
	is a technique for overcoming resistance to controls.

	c.
	is a criterion for making a control effective.

	d.
	is a step in the control process.

	e.
	is an action taken after evaluation control.


ANS:
B
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
Comp

99.
Some investment firms require traders to take two consecutive weeks of vacation, so the traders' books can be reviewed. This is an example of

	a.
	management development.

	b.
	verification procedures.

	c.
	resistance to control.

	d.
	reducing uncertainty.

	e.
	management by objectives.


ANS:
B
PTS:
1
OBJ:
11.6
NAT:
AACSB: E

TYP:
App

100.
A production manager argues that the increase in absenteeism is caused by decreased recruiting and placement standards. The argument is supported by personnel documents. This is an example of

	a.
	overcoming resistance to control.

	b.
	overcontrol.

	c.
	objectivity.

	d.
	participation.

	e.
	checks and balances.


ANS:
E
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
App

101.
Merrill Lynch monitored a research analyst's e-mails, discovered illegal information sent to a client, and fired the analyst. Merrill Lynch's ____ helped reduce resistance to control.

	a.
	participation

	b.
	flexibility

	c.
	appropriate focus

	d.
	high standards

	e.
	verification procedures


ANS:
E
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

TYP:
Comp
COMPLETION

1.
____________________ is the regulation of organizational activities in such a way as to facilitate goal attainment.
ANS:
Control
PTS:
1
OBJ:
11.1
NAT:
AACSB: A

2.
Preventing small mistakes and errors from adding up to large problems is called limiting the ____________________.
ANS:
accumulation of error
PTS:
1
OBJ:
11.1
NAT:
AACSB: A

3.
Most organizations define areas of control in terms of the four basic types of resources they use: physical, human, ____________________ and financial.
ANS:
information
PTS:
1
OBJ:
11.1
NAT:
AACSB: A

4.
____________________ control is concerned with how elements of the organization's structure are serving their intended purpose.
ANS:
Structural
PTS:
1
OBJ:
11.1
NAT:
AACSB: A

5.
____________________ focuses on the processes the organization uses to transform resources into products or services.
ANS:
Operations control
PTS:
1
OBJ:
11.1
NAT:
AACSB: A

6.
A target against which subsequent performance will be compared is a(n) ____________________.
ANS:
control standard
PTS:
1
OBJ:
11.1
NAT:
AACSB: A

7.
The final step in the control process is to determine the need for ____________________ action.
ANS:
corrective
PTS:
1
OBJ:
11.1
NAT:
AACSB: A

8.
Controls applied to screen employees before they are hired are called ____________________ controls.
ANS:
preliminary
PTS:
1
OBJ:
11.2
NAT:
AACSB: A

9.
A quality control inspection that takes place while a product is being manufactured is called a(n) ____________________ control.
ANS:
screening
PTS:
1
OBJ:
11.2
NAT:
AACSB: A

10.
A year-end sales report is an example of a(n) ____________________ control.
ANS:
postaction
PTS:
1
OBJ:
11.2
NAT:
AACSB: A

11.
At Dell, running the computer before shipment is a(n) ____________________ control.
ANS:
postaction
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

12.
A(n) ____________________ is a plan expressed in numerical terms.
ANS:
budget
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

13.
The expense budget is a type of ____________________ budget that anticipates expenses for the organization during the coming time period.
ANS:
operating
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

14.
The nonmonetary budget that focuses on the hours of direct labor available for use is the ____________________ budget.
ANS:
labor
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

15.
____________________ budgets focus on such factors as units of output and allocation of space.
ANS:
Nonmonetary
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

16.
____________________ are intended to serve as frameworks, but managers sometimes fail to recognize that changing circumstances may warrant adjustments.
ANS:
Budgets
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

17.
The financial statement that reflects revenues and expenses over a period of time is the ____________________.
ANS:
income statement
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

18.
The calculation of one or more financial ratios to assess some aspect of the organization's financial health is the ____________________ analysis.
ANS:
ratio
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

19.
Audits are independent appraisals of an organization's ____________________ and operating systems.
ANS:
accounting
PTS:
1
OBJ:
11.3
NAT:
AACSB: A

20.
Two major forms of ____________________ control, bureaucratic control and decentralized control, represent opposite ends of a continuum.
ANS:
structural
PTS:
1
OBJ:
11.4
NAT:
AACSB: A

21.
Nordstrom, the department store chain, is also moving toward ____________________ control as it works to centralize all of its purchasing in an effort to lower costs.
ANS:
bureaucratic
PTS:
1
OBJ:
11.4
NAT:
AACSB: A

22.
When the managerial style is participative, the appropriate control style is ____________________.
ANS:
decentralized
PTS:
1
OBJ:
11.4
NAT:
AACSB: A

23.
The form of organizational control based on informal, organic structural arrangements is ____________________ control.
ANS:
decentralized
PTS:
1
OBJ:
11.4
NAT:
AACSB: A

24.
____________________ control generally focuses on structure, leadership, technology, human resources, and information and operating systems.
ANS:
Strategic
PTS:
1
OBJ:
11.5
NAT:
AACSB: A

25.
Because of both their ____________________ and ____________________ associated with international business, global organizations must take an especially pronounced strategic view of their control systems.
ANS:


large size, complexity

complexity, large size
PTS:
1
OBJ:
11.5
NAT:
AACSB: A

26.
International organizations that use a(n) ____________________ control system require foreign branches to report less frequently and in less detail.
ANS:
decentralized
PTS:
1
OBJ:
11.5
NAT:
AACSB: A

27.
Control should be linked with ____________________.
ANS:
planning
PTS:
1
OBJ:
11.6
NAT:
AACSB: A

28.
Tasking a subordinate who does not complain about work instead of a subordinate who complains all the time, can hurt control by ____________________.
ANS:
rewarding inefficiency
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

29.
Multiple standards and information systems provide checks and balances in control and allow the organization to verify the ____________________ of performance indicators.
ANS:
accuracy
PTS:
1
OBJ:
11.6
NAT:
AACSB: A
MATCHING
Match the following. You may use a response once, more than once, or not at all.

	a.
	Financial

	b.
	Operations

	c.
	Nonmonetary



1.
Capital expenditure

2.
Profit budget

3.
Sales budget

4.
Production budget

1.
ANS:
A
PTS:
1

2.
ANS:
B
PTS:
1

3.
ANS:
B
PTS:
1

4.
ANS:
C
PTS:
1
Match the following. You may use a response once, more than once, or not at all.

	a.
	Financial controls

	b.
	Human resource controls

	c.
	Information resource controls

	d.
	Operations controls

	e.
	Organizational controls

	f.
	Physical resource controls

	g.
	Strategic controls



5.
Quality control inspections

6.
Employee performance appraisals

7.
External audit

8.
Related to all other classes of resource controls

9.
Concerned with overall operation of the organization

10.
Focus on one or more organizational processes

11.
Concerned with organization-environment matching

12.
Training and developing employees

13.
Inventory management

5.
ANS:
F
PTS:
1

6.
ANS:
B
PTS:
1

7.
ANS:
A
PTS:
1

8.
ANS:
A
PTS:
1

9.
ANS:
E
PTS:
1

10.
ANS:
D
PTS:
1

11.
ANS:
G
PTS:
1

12.
ANS:
B
PTS:
1

13.
ANS:
F
PTS:
1
Match the following. You may use a response once, more than once, or not at all.

	a.
	Preliminary controls

	b.
	Screening controls

	c.
	Postaction controls



14.
Movie screening before release

15.
Physical therapy following surgery

16.
Randomly testing an iPad as they are assembled

17.
A year-end sales report

18.
Course prerequisites

19.
News editors assigning reporters to stories

20.
Inspecting hops, an ingredient in beer

21.
Customer survey

22.
Applied to the transformation stage of an organizational system

23.
Taste testing at Flying Fish microbrewery

24.
Applied to the input stage

25.
The most common form of control

26.
Hiring only high school graduates for entry level positions

14.
ANS:
B
PTS:
1

15.
ANS:
C
PTS:
1

16.
ANS:
B
PTS:
1

17.
ANS:
C
PTS:
1

18.
ANS:
A
PTS:
1

19.
ANS:
A
PTS:
1

20.
ANS:
A
PTS:
1

21.
ANS:
C
PTS:
1

22.
ANS:
B
PTS:
1

23.
ANS:
C
PTS:
1

24.
ANS:
A
PTS:
1

25.
ANS:
B
PTS:
1

26.
ANS:
A
PTS:
1
Special Exercises

FedEx. The package delivery service is committed to accurate and speedy delivery, along with excellent customer service. Information systems are vital to support the firm's complex operations and enable the delivery of 6 million packages daily. It coordinates 90,000 vehicles, 677 airplanes, and 200,000 employees in 220 countries, while also ensuring that the firm meets its goals of accuracy, speed, and service. The chief information officer, Rob Carter, puts the emphasis on effectiveness, quality, and satisfaction rather than on efficiency and cost control.

JetBlue. The airline industry is one of the most challenging industries for managers. Yet JetBlue, founded in 2000, became one of the most profitable airlines in the United States. Many credit CEO David Neeleman's dedication to monitoring the airline's performance and his passion for feedback. He jumps on a plane once a week or so, serving drinks and loading baggage. Along the way, he smiles politely at praise, but asks passengers to tell him more about their complaints. No concern is too small or too large, from a desire for better biscotti to a request for flights to Chicago. Neeleman gives employees the autonomy to make customer service decisions immediately. "Employees at other airlines get so caught up in procedurerules, rules, rulesthat they often forget there is a paying customer there," Neeleman asserts.

The following is a list of organization design terms. Mark which term best describes these two organizations.

	a.
	FedEx only

	b.
	JetBlue only

	c.
	Both organizations

	d.
	Neither organization



27.
Goal of control is customer satisfaction

28.
Goal of control is employee compliance

29.
Decentralized control

30.
Goal of control is employee commitment

31.
Dynamic structural arrangement

32.
Limiting the accumulation of error

33.
Focus of control is speed

34.
Group norms contribute to performance

35.
Minimizing costs

36.
Uses strategic control

37.
Flat organizational design

38.
Resistance to control caused by rewards for inefficiency

39.
Screening control

40.
Participation is extended and informal

41.
Control has accuracy

27.
ANS:
C
PTS:
1
TOP:
Special Exercises


28.
ANS:
D
PTS:
1
TOP:
Special Exercises


29.
ANS:
B
PTS:
1
TOP:
Special Exercises


30.
ANS:
A
PTS:
1
TOP:
Special Exercises


31.
ANS:
C
PTS:
1
TOP:
Special Exercises


32.
ANS:
C
PTS:
1
TOP:
Special Exercises


33.
ANS:
A
PTS:
1
TOP:
Special Exercises


34.
ANS:
C
PTS:
1
TOP:
Special Exercises


35.
ANS:
D
PTS:
1
TOP:
Special Exercises


36.
ANS:
C
PTS:
1
TOP:
Special Exercises


37.
ANS:
B
PTS:
1
TOP:
Special Exercises


38.
ANS:
D
PTS:
1
TOP:
Special Exercises


39.
ANS:
C
PTS:
1
TOP:
Special Exercises


40.
ANS:
B
PTS:
1
TOP:
Special Exercises


41.
ANS:
C
PTS:
1
TOP:
Special Exercises

ESSAY

1.
Explain the purpose of control.
ANS:


Answer not provided.
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

2.
Identify the different types of controls.
ANS:


Answer not provided.
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

3.
Briefly describe how controls are classified according to level. Give examples of each type.
ANS:


Answer not provided.
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

4.
At the end of the control process there are three possible courses of action. Describe them.
ANS:


Answer not provided.
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

5.
Identify a goal you have (such as starting a career). Describe five specific actions you can take that will control your behavior and help you work toward achieving that goal. How will you measure your progress?
ANS:


Answer not provided.
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

6.
Describe the steps in the control process.
ANS:


Answer not provided.
PTS:
1
OBJ:
11.1
NAT:
AACSB: R

7.
Imagine you are the author of a nonfiction book. Describe how the three types of operational control will help ensure that your book is successful.
ANS:


Answer not provided.
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

8.
Describe the three forms of operations control.
ANS:


Answer not provided.
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

9.
Describe the role of feedback in the control process.
ANS:


Answer not provided.
PTS:
1
OBJ:
11.2
NAT:
AACSB: R

10.
Briefly describe the three types of financial budgets mentioned in the text and include what purpose each type serves.
ANS:


Answer not provided.
PTS:
1
OBJ:
11.3
NAT:
AACSB: R

11.
Imagine you are the lead representative for Ford in contract negotiations with the UAW. How can you use financial controls and budgets to support your position?
ANS:


Answer not provided.
PTS:
1
OBJ:
11.3
NAT:
AACSB: R

12.
Briefly describe the strengths and weaknesses of budgeting.
ANS:


Answer not provided.
PTS:
1
OBJ:
11.3
NAT:
AACSB: R

13.
Bernard Madoff and his CFO were convicted of fraud. Could internal audits have prevented the downfall of Bernard L. Madoff Investment Securities LLC? Why or why not?
ANS:


Answer not provided.
PTS:
1
OBJ:
11.3
NAT:
AACSB: E

14.
Would you rather work in a company with bureaucratic or decentralized control? Why?
ANS:


Answer not provided.
PTS:
1
OBJ:
11.4
NAT:
AACSB: R

15.
Discuss the relationship between strategy and control for a global organization.
ANS:


Answer not provided.
PTS:
1
OBJ:
11.5
NAT:
AACSB: R

16.
What are the characteristics of effective controls?
ANS:


Answer not provided.
PTS:
1
OBJ:
11.6
NAT:
AACSB: R

17.
Assume you work in a place that monitors all emails and Internet websites viewed. How could your employer help you appreciate the need for this control?
ANS:


Answer not provided.
PTS:
1
OBJ:
11.6
NAT:
AACSB: T
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